_—b A]: M_):O @& o Y‘O"t'Ml'uh

Solutlon 4o Midterm Zyou,

2
C
v % X wlxr(ow%* B Man 3
[C
N L=T-v
M MI § (X tX° -f-x )—--— [/(Xz X1) ¥ (X~ -Xxs) %+ Yr'X;))J
e Ay oy co =
di'a.)'(: 3X; -
'P-Zuwﬂows b Wotion
§<‘.+%f_x — - Oatx) =5 vy
)(z _fzvlf_xL __J;:‘ XitXy) = o ¥
X34-—X1 ""1;1-(\(1‘("(;) =5 %3
Wkt Aueont 3 2 A et L= 2.3

?l‘v’a—ln *¥1{ — ¥y )'(;:fLUATQCw*

Wi+ 2EVA ~ K (4,44,) =0

" 2 'w Tt
Xj=-w’A; ¢!

&‘*be“"l‘A = CwtE -Easo
“Ea - £+ bwha)po

'l‘f *’EW ‘?/gM wWHB  Wn- £¥iviad &DIMM'H
e Cooflipions of A, A, Ay Vanishes

s B Where N

=
~) =

S
—AR2 Wor .%

+h wf&wﬁ;’nu ujﬁ

oL m w8 =T A



